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Q1. For a series of length 64, the sample partial autocorrelation are given as: 

Lag 1 2 3 4 5 

PACF 0.47 -0.34 0.20 0.02 -0.06 

 Which models should be considered in this case?   
Soln: See Exercise 6.16 p 142 

Notice that 
2

√64
= 0.25 and that all partial autocorrelations from 

lag 3 on are smaller in magnitude than 0.25. 

This suggests an AR(2) model for the series. 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

 

 

 
Q2. Consider an AR(1) series of length 100 with 𝜙 = 0.7. 

a) Would you be surprised if r1 = 0.6? 

b) Would r10 = -0.15 be unusual? 
Soln: See Exercise 6.17 p 142 

a) For an AR(1) with  = 0.7 and n = 100, Exhibit (6.1), page 111, 

shows √𝑉𝑎𝑟(𝑟1) = 0.71/√100 = 0.071 and r1 = 0.6 is less than two 

standard deviations from 1 =   = 0.7. We should not be surprised at 

all. 

 

 

 

b) For an AR(1) with  = 0.7 and n = 100, Exhibit (6.1), page 111, shows 

√𝑉𝑎𝑟(𝑟10) = 1.70/√100 = 0.17. Thus r10 = −0.15 is less than one 

standard deviation away from its approximate mean of 10 = (0.7)10 = 

0.028. 

 
 

 


